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P155 [Total No. of Pages: 4
[5515]-2010

S.Y.B.Com.
COST AND WORKSACCOUNTING
(Paper -1) (2013 Pattern)

Time: 3Hourg] [Max. Marks:80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

3) Useof calculator is allowed.

Q1) @ Fillintheblanks. [9]
) A ———isaschedule of materials needed for a job.
i) ——— method of pricing material issues is suitable for bulky

and non-perishable materials.
i) ———— system guarantees a minimum wage to the workers.

Iv) Hire charges paid for a special machinery required for a specific
job should be taken as an item of

V) —— represents that quantity of material which is normally
ordered when the materialsreach ordering level.
b) Statetrueor false. [5]

)  Cost accountancy is awider term than cost accounting.

i)  Bincard showsthe quantity and value of amaterial at any moment
of time.

ii)  Time-keeping facilitatesthe preparation of payroll.
IV)  Incentive plans benefit both the employers and employees.
v) Cost unit and cost centre are the same.

Q2) State the functions of purchase department. [15]
OR

ad  What istime-booking? Explain the methods of time-booking. [10]

b) Writeadetail note on classification of cost according to behaviourwise.[5]

P.T.O.



Q3) Write short notes. (Any three)

ad ABCanaysis.

b) Origin of costing.
c) Cost centre.

d) Maeritrating.

€) Direct cost.
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Q4) @ Thefollowing information has been obtained from the records of BHEL
Limited, Bhopal:
Items of cost Amount Rs.
Opening stock of raw materials 40,000
Opening stock of finished goods 1,00,000
Opening stock of WIP 10,000
Closing stock of raw materials 50,000
Closing stock of WIP 1,50,000
Closing stock of finished goods 14,000
Indirect [abour 50,000
L ubricants 10,000
Insurance on plant 3,000
Purchases of raw materials 4,00,000
Sales Commission 60,000
Salariesto salesmen 1,00,000
Administrative expenses 1,00,000
Carriage outward 20,000
Power 30,000
Direct labour 3,00,000
Degpreciation on mahinery 50,000
Factory rent 60,000
Property tax on factory building 11,000
Donation to Chief Minister Relief Fund 12,000
Sales 12,00,000



Prepare a statement of cost showing:
)  Cost of raw materials consumed,
i)  Prime cost,

i) Factory cost,

Iv) Cost of production,

v) Cost of sales, and

vi) Profit.

b) A, arefrigerator manufacturer, purchases 1,600 units of a certain
component from B. His annual usage is also 1,600 units. The order
placing cost is Rs. 100 and the cost of carrying one unit for a year of
Rs. 8. Calculate the economic ordering quantity, Also calculate the
number of ordersin ayear. [9]

OR
b) Fromthefollowinginformation, calculate

) Re-orderlevel, and
i)  Minimumlevd:

Re-order quantity . 4,000 units
Minimum stock level toalow for emergencies :  5weeks
Averagedelivery timefrom suppliers . 4weeks
Maximum stock level allowed by management : 20 weeks
Average rate of consumption in 4 weeks : 250 units
Minimum consumptionin 4 weeks : 800 unts

[5]

Q5) @ Usinginformation given, draft storesledger under weighted Average Price
showing quantities and value of receipts, issue and balance in hand:[10]

Jan, 01 — Balance in hand — 1,000 units @ Re.1 each.
Jan, 15 — Received — 3,000 units costing Rs. 3,300.
Feb, 12 — Received — 2,000 units costing Rs. 2,400.
Jan, 30 — Issued — 2,000 units.
Feb, 27 — Issued —3,400 units.

OR
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ad Thefollowinginformationisavailablefrom the booksof Raj Enterprises

for theyear 2016: [10]
Particulars Materia-A | Materia-B
Opening Stock 2,000 3,000
Purchases 26,000 7,000
Closing stock 3,000 3,500

Calculate the inventory turnover ratio and determine which material is
fast moving.

Q5) b) A worker under the Halsey method of remuneration has a day rate of
Rs.12 per week of 48 hours, plus a cost of living bonus of 10 paise per
hour worked. He is given an 8 hours task to perform, which he
accomplishesin 6 hours. Heisallowed 30% of thetime saved as premium
bonus. What would be histotal hourly rate of earnings, and what difference

would it make if he were paid under the Rowan Method? [10]

OR
b) From the following data provided to you find out the Labour Turnover
Rate by applying: [10]

)  Separation Method,

i)  Replacement Method, and

i) Flux Method.

No. of workers on the payroll:

At the beginning of the month : 500
At the end of the month : 600

During the month, 5 workers left, 20 persons were discharged and 75
workers were recruited. Of there, 10 workers were recruited in the
vacancies of thoseleaving, whiletherest were engaged for an expansion
scheme.

Qgg Qgg Qgg Qgg

77 7S 70
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Total No. of Questions: 4] SEAT No. :

P156 [Total No. of Pages: 4
[5515]-2011

S.Y.B.Com.
BUSINESSSTATISTICS-I
(Special Paper -1) (2013 Pattern)

Time: 3Hourg] [Max. Marks:80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

3) Useof statistical tables and calculator is allowed.

Q1) Attempt any fiveof thefollowing: [10]
a  Statethree methods of collection of vital statistics.
b) Definetime series. State four components of time series.
c) Giveany two usesof lifetable.
d) Givenr,=0.8,r,=0.3andr, =04, find R ...

' 713

e) Given that (AB) = 256, (A) = 304, (B) = 1024 and N =1216. State
whether the two attributes are independent.

f)  Compute €°,,. Given that T, = 77500 and |, = 15500. Comment on
result.

g) Given o = 0.1, Estimate the profit for the year 2018 using exponential
smoothing method for:

Year Profit (in crores)
2016 49.2
2017 55.3

P.T.O.



Q2) Attempt any four of thefollowing:

[20]

a Inasurvey conducted for 5000 citizens about the reading news paper is
givenashbelow:

Reading Marathi & English news paper

Reading Marathi but not reading English news paper

Not reading Marathi but reading English news paper

Not reading Marathi & English news paper

= 2000
= 2000
= 500
= 500

Calculatethe coefficient of association between two attributes. Comment
on the nature of association.

b) Giventhenumber of dogsat agex, completethelifetable having columns
dx, Px, gx, Lx.
Age(x) |3 |4 |5 1|6 (7 |8
N 80| 74| 66|32(10 (0
c) Compute the CDR and STDR for two population A and B taking
population B as standard population:
Age Group A B
Population | Deaths | Population | Deaths
0-10 15000 300 10000 280
10-30 30000 600 25000 400
Above 30 20000 800 15000 750
d) Obtain initial basic feasible solution using North West Corner method

for following transportation problem.

Markets — D, D, D, |Supply
Sources
O, 13 15 16 17
0, 7 1 2 12
0, 19 20 9 16
Demand 14 8 23

Also find the corresponding transportation cost.

[5515]-2011
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€e) A company has four jobs to be done. The following matrix shows the
time (in hours) taken on 4 different machines. Find minimum solution so
asto minimizethetotal timerequired.

[ 1 1 AV
A 5 123|148
B 101251 | 23
C 3%|16|15| 12
D 16| 23 (21| 7

f)  Obtainthedual problem of thefollowing linear programming problem:
Minimize z=4700x, + 7200x,
Subject to:
31x +4x, 2 345
18x +9x, = 101
X, X, = 0

Q3) Attempt any two of thefollowing: [20]

a Given (ABC) =26, (ABC) =18, (ABY) =38, (ABy) =12, (aBC) = 12,

(aBC) =6, (aBy) = 16, (aBy) = 9. Find (A), (AB), (AB), (AC), (BC).

b) 1) Find5- yearly moving average of the production of commodity for
the year 2001 to 2010 as given below:

Year 2004|2005(2006|2007)2008/2009,2010{2011|2012)2013
Production('000) | 3| 5| 7| 8 (10| 12| 19| 21|24 |35

i)  Fitatrend lineto the following data by |east square method.

Year 2010| 2011| 2012| 2013 | 2014
Profit (* 000) 20 22 23 20 18

c) Obtaintheinitial smplex tablefor
MaximizeZ =7X +5Y
Subjected to,
X+2Y <6
4X+3Y <12
X, Y=0
Also comment on whichisentering and leaving variable.
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Q4) Attempt any two of thefollowing:

[30]

a  Given thefollowing information find equation of plane of regression of

b)

Vaiable | Mean | SD | Correlations
X, 28.02 | 4.42 r,=03
X, 491|110 r,=04
X, 594185 r,,= 0.56

X, onX, and X, Also estimate value of X, when X,=6.5 and X,=6.

Caculate GER., T.F.R.,Age-S.FR., and GR.R. for the following data.
Assume that proportion of female birthsis 43.5%.

Aqge group No. of Women | Total Births
(inyears) (in000)

15-19 32 800
20-24 30 3420
25-29 28 4200
30-34 25 2860
35-39 22 1920
40-44 20 600
45-49 10 10

Also comment on the results of T.FR. and GR.R.

Obtain initial basic feasible solution using VAM for the following
transportation problem.

Warehouse— | D, D, D, D, Supply
Factory |
O, 5 3 4 30
O, 3 8 15
O, 9 6 8 15
Demand 10 25 18 7
Isthissolution is optimal ?
4
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Total No. of Questions :5] SEAT No. :
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[5515] - 2012 [Total No. of Pages : 4

S.Y. B.Com.
BUSINESS ENTREPRENEURSHIP -1
(2013 Pattern) (Paper -1I) (Regular)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Define the term ‘Entrepreneur’ and ‘Entrepreneurship’. Explain the need and
importance of Entrepreneurship. [16]

OR

Explain the Entrepreneurial career of Dr. Vitthalrao Vikhe Patil Pravaranagar.[16]

02) What is ‘Creativity’? Explain the techniques and tools of creativity. [16]
OR

Define the term ‘Social Responsibility’. Describe the social Responsibilities
of business towards various factors. [16]

03) a) What is ‘Group Entrepreneurship’? Explain the importance of Group
Entrepreneurship. [8]

OR

What is ‘Franchising’? State the advantages of franchising business to
the Franchisee. [8]

b) Distinguish between Individual Entrepreneurship and Group
Entrepreneurship. [8]

OR

Explain the steps in starting Franchising Business. [8]

PTO.



04) Define the term ‘Service’. Explain the various types of service industry.[16]

OR
Explain the challenges or problems of entrepreneurship development in India.
[16]
05) Write short notes (any four) : [16]

a) Self help group

b) Business processes outsourcing

c) Principles of Innovation

d) Problems of unemployment

e) Opportunities to service industry in urban area.

f)  Contribution of Karamveer Bhaurao Patil
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Total No. of Questions : 5]
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S.Y. B.Com.
BUSINESS ENTREPRENEURSHIP -1
(2013 Pattern) (Paper - I) (Regular)
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[5515]-2014

S.Y. B.Com.
BUSINESS ECONOMICS
Agricultural and Industrial Economics
(2013 Pattern) (Special Paper - I) (Theory)

Time : 3 Hours]| [Max. Marks : 80
Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the role of Agriculture in Economic Development. [16]

02) Detine Agricultural Economics. Explain the nature and scope of Agricultural
Economics. [16]

OR

Explain in detail the factors affecting location of industries. [16]

03) a) State the different purposes of demand for Agricultural produce.  [8]

b) Explain the types of diversification of firm. [8]
OR
a)  Explain the nature of supply of Agricultural product. [8]
b) Explain the causes of Industrial Monopoly. [8]
04) Explain in detail Weber theory of location of industries. [16]
05) Write a short notes on (Any Two) : [16]

a) Farm Management.

b) Factors affecting Supply of Agricultural produce.
c) Importance of Industrial economics.

d) Optimum size of firm.

+4 4+
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P159 [5515]-2014

S.Y. B.Com.
BUSINESS ECONOMICS
Agricultural and Industrial Economics
(2013 Pattern) (Special Paper - I) (Theory)
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[Total No. of Pages : 4
[5515] - 2015

S.Y. B.Com.

DEFENCE BUDGETING, FINANCE AND MANAGEMENT

(2013 Pattern) (Special Paper - I)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Answer in 20 words each (any ten) [20]
i)  Define “Defence Budget”.
i) Define Threat Perception.
i) State the meaning of integrated Defence.
iv) What do you mean by Defence as a Public Good?
v)  Define Military Ideology.
vi) State the meaning of Zero budget.
vil) What do you mean by war time economy?
viil) State the meaning of War potential.
1X) Write any two limitations of Defence management.
x)  Write the meaning of Strategic Control.
xi) State the meaning of military doctrine.
xil) Define deficit budget.
xii)) What is Political ideology?

PTO.



02) Answer in 50 words each (any two) : [10]
1)  Explain merits of peace time economy.
1)  Discuss methods of war finance.

i) Describe impacts of war on society.

03) Answer in 150 words each (any two) : [20]
1)  Explain role of foreign collaboration in India’s defence production.
1)  Discuss causes of increasing Defence Expenditure.

i) Describe relations between war and economy.

04) Answer in 300 words each (any two) : [30]
1)  Analyses Defence spending of India from 1990 to present day.
i)  Describe role of private sector in India’s defence production.

i) Do you agree ‘Defence and Development go side by side’? Comment.
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P160 [5515] - 2015

S.Y. B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
(2013 Pattern) (Special Paper - I)
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P161

[5515] - 2016 [Total No. of Pages : 2

S.Y. B.Com.
INSURANCE, TRANSPORT AND TOURISM
Insurance, Transport and Clearance
(2013 Pattern) (Paper - I) (Regular)

Time : 3 Hours| [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What do you know about General Insurance company of India (GIC). Explain
the role of General Insurance Company of India in Insurance sector.  [16]

02) Define ‘Life Insurance’. Describe the present scenario of life insurance in
India. [16]

OR

Define ‘Insurance Agent’. Explain the functions of Insurance Agent.

03) a) Explain the Development of Indian Tourism. [8]
b) Explain the need and importance of tourism planning. [8]
OR

a) State the responsibilities of Tour operator.

b) Explain the significance of Tourism Accommodation.
04) Define ‘Tour’? Explain in details the various types of Tours. [16]

05) Write short notes on (Any Two) : [16]
a) Current Trends in Tourism Industry.
b) Carrier in Tourism Industry.
c¢) Tour Operator.

d) Educational Tourism.

s
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Plel [5515] - 2016
S.Y. B.Com.
INSURANCE, TRANSPORT AND TOURISM
Insurance, Transport and Clearance
(2013 Pattern) (Paper - I) (Regular)
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Total No. of Questions: 5] SEAT No. :

P162 [Total No. of Pages: 4
[5515]-2017
S.Y.B.Com.
COMPUTER PROGRAMMINGANDAPPLICATIONS
VB Script and RDBM S
(2013 Pattern) (Paper - I)

Time: 3Hourg] [Max. Marks:80
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

3) Neat diagram must be drawn wherever necessary.

Q1) & Answer thefollowing questions (Any Four). [8]

)  Definethe database.

i)  What are properties.

i)  Write about Do............ Until loop of VB Script.
Iv)  What is NOT and OR operator of VB Script.

v) How to sort data using SQL.

b) Givethe output of the following section of code (Any Two) [8]

) < Script Language = “VB Script” >
dma b, c,i
a=0
b=1
fori=1to5
c=a+b
document.write(c)
a=Db
b=c
Next
< /Script >

P.T.O.



i

< Script language = “VB Script” >
A =246
sum=0
dig=0
whileA >0
dig=A mod 10
sum = sum + dig
A=A/10
wend
document.write (sum)

< /Script >

< Script language = “VB Script” >
Dim count

count = 5

while count > 0

document.write (count)
document.write (“< BR/ >")

count = count-1

wend

< /Script >

Q2) Attempt any two of the following.

ad Explain SET operators of RDBMS.

b) Explaininbrief scalar and aggregate function of RDBMS.
c) Explainwith example primary and Foreign key of SQL.

[5515]-2017
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Q3) Answer the following questions (Any Four)

a)

b)

Solvethefollowing.

Department table having following structure.

(dept_No, dept_name, location).

1)  Createtable Department.

i)  Display name of departments|ocated at Delhi.

i)  Add new department information to department table.
(10, Social welfare, Pune).

Iv) Change location of department No = 10 to Nashik.

Customer table having following structure.

(Cust_id, Name, Date, Amount)

1)  Display all records of customersin decending order of name.

i)  Find al customers whose amount is lessthan Rs. 3000.
i) Delete the record of customer having Cust_id=5

Iv) Changethe date of Customer id =5 to 15-Dec-2016.
What are the restrictions for Alter command in SQL.

What is Inputbox () and msgbox () .

What isunique and NOT NULL constraint.

Q4) Attempt any four of thefollowing.

a)
b)
c)
d)

€)

State different types of joinsin SQL.

Explain any four properties of command button in VB Script.

What is procedure? State it’s types?
Write any four mathematical functions of VB Script.

Write syntax and example of for loop.

[5515]-2017 3
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Q5) Attempt any Four of thefollowing.

a)
b)
C)
d)
€)

Explain In and Between operator of SQL?
Explain advantages of RDBMS.

Writerulesfor declaring variablesin VB Script.
Explain system privilegesin detail.

Write syntax and purpose of following commands.

) Sum()
i) Avg()

N4
2N
N4
2N
N4
2N
N4
2N

[5515]-2017 4
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P163 [Total No. of Pages: 1
[5515]-2018

S.Y.B.Com. (Vocational -111)
ADVERTISING SALESPROMOTION & SALESMANAGEMENT
Advertisngand M ediaPlanning
(2013 Pattern) (Paper - 111)

Time: 2Hourg] [Max. Marks:40
I nstructions to the candidates:

1) All questions are compulsory.

2) Figuresto theright indicate full marks.

Q1) Define the term “Advertising”. Explain the importance of animations and

graphicsinAdvertising. [12]
OR
What do you mean by Advertising Effectiveness? Explain the post testing
methods of testing Advertising effectiveness. [12]
Q2) State and explain thefactorsinvolved in the selection of media. [12]
OR
What do you mean by supply chain management? State the importance and
objectives of supply chain management. [12]
Q3) Write short notes (any two): [16]

d Roleof advertising agency.
b) Objectivesof Mediaplanning.
c) Types of copy.

d) Functionsof Branding.
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Total No. of Questions : 2]

SEAT No. :

P164 [Total No. of Pages : 1
[5515]-2019
S.Y. B.Com. (Vocational)
COMPUTERAPPLICATIONS
(2013 Pattern) (Paper - III)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates:

D

Draw neat labelled diagrams wherever necessary.

2) Figures to the right indicate full marks.

Q1) Answer the following (Any Four) : [20]
a) Explain Relational operators with example.
b) What are the benefits of using database in business?
c) Explain briefly date and varchar data types.
d) Write note on Data Manipulation Langauge.
e) Explain where clause with example.
f)  Explain IN and NOT IN operator.
02) Answer the following (Any Four) : [20]
a)  Write steps for database development.
b) Explain features of Structured Query Language (SQL).
c) Explain the function SQRT () and Concat ( ) with syntax and example.
d) Explain Network Database Model with suitable diagram.
e) Whatis Data Dictionary? Explain.
f)  Explain Create Table Command with syntax and example.

F4 4+
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P165 [Total No. of Pages : 2
[5515]-2020

S.Y. B.Com. (Vocational)
TAX PROCEDURE AND PRACTICES
Income Tax Act- 1961 (Provisions & Procedure)
(2013 Pattern) (Paper - III)

Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Answer in 20 words each (Any Five) : [10]
a)  What are the slab rates of Income Tax for A.Y. 2018-2019?

b) When gift received from one or more unrelated person’s shall form part
of income?

c) Who can sign return of income?

d) How the Gross Annual Value determined?

e) Distinguish between short term capital gain and long term capital gain.
f)  Discuss deduction available U/s 80D.

g) What is mean by block of assets?

h)  What is mean by Set-off of losses?

02) Answer in 50 words each (Any Two) : [8]
a) What is mean by income from other sources?
b) Enumerate provisions for TDS from payment to resident contractor.
c) When assessing officer can make Best Judgement Assessment?

d) What are the exemptions from capital gain?

03) Answer in 150 words each (Any Two) : [10]
a) Discuss the provisions of Income Tax Act relating to ‘Advance Payment
of Tax’?

PTO.



b) Discuss the provisions for clubbing of minor child income in the income

of parent.

c) What are the powers and duties of Authorities under Income Tax Act?

d) What are the provisions for Ist Appeal under Income Tax Act?

e) Explain the term Self-Assessment.

04) Discuss computation of Profits and Gains of Business/Profession under the

Income Tax Act.
OR
Solve the following problems :

[12]

[12]

Advocate Ashok Bhatiya advisor in Pune - submits details of his receipts and

payments for the year ended 31-03-2018 as
1) Consultation fees received
2) Fees received on panel advocate

3) Worked as visiting lecturer in a college,
Remuneration received

4)  He has let out house rent received

5) Interest received on S.B. Account

6) Interest on Fix deposits

Payments

1) Rentand Electricity charges for office
2)  Municipal tax for let out house

3) College deducted tax on employment
4)  Salary to office clerk

5) Printing Stationary Exp.

6) Life insurance premium paid

7) Invested in National Saving Scheme

55,10,000
15,000

4,50,000
1,20,000
15,000
25,000

4,00,000
35,000
2,000
24,000
8,500
25,000
1,00,000

He has office furniture the written down value as on 01/04/2017 % 2,00,000.

Compute his total income for assessment year 2018-19.
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[5515]-2021
S.Y. B.Com (Vocational)

ADVERTISING SALES PROMOTION & SALES
MANAGEMENT

Personal Selling and Salesmanship
(2013 Pattern) (Paper-1V)

Time : 2 Hours| [Max. Marks :40
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What do you mean by Personal Selling? Explain the importance of personal
selling in modern marketing. [12]

OR

State various qualities required by salesman to become successful salesman.

02) State and explain in detail process of selling . [12]
OR
Write note on: a) Problems in selling.

b) AIDA Model of selling.

03) Write short notes on (any two): [16]
a) Emotional Buying Motives.
b) Types of customers.
c) Shopping Malls.
d) E-marketing.
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[5515]-2022

S.Y. B.Com. (Vocational)
COMPUTERAPPLICATIONS
(2013 Pattern) (Paper - IV)

Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates:
1) Draw a neat labelled diagrams wherever necessary.
2) Figures to the right indicate full marks.

Q1) Answer the following (Any Two) : [20]
a) Explain in detail System Development Life Cycle (SDLC).

b) What is Flowcharting? Draw and explain different symbols used in
Flowcharting.

c) Explain various Elements of a System.

02) Write note on (Any Two) : [20]
a) System Security.
b) Structured English.
c) Software Engineering.

d) Code Design.
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[5515]-2023
S.Y. B.Com. (Vocational)
TAX PROCEDURE AND PRACTICES
Wealth Tax, Service Tax, L.B.T. Professional Tax
(2013 Pattern) (Paper -1V)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates:

D

All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Answer in 20 words each (Any Five) : [10]
a) What is the rate of Wealth Tax?
b) Explain constitutional validity of Service Tax.
c) What mean by CENVAT credit under Service Tax?
d) Whatis incidence for wealth tax?
e) What is mean by P.T.E. and P.T.R under Professional tax?
f)  What is long form of L.B.T.?
g) What is constitutional background of Profession Tax Act?
02) Answer in 50 words each (Any Two) : [8]
a) What is mean by ‘Reverse charge under Service Tax’?
b) What do you mean by ‘Net Wealth’ under Wealth Tax Act 19577
c) Which forms and records are required to be maintained under L.B.T.
Act?
d) Write down provisions for payment of Professional Tax.

PTO.



03) Answer in 150 words each (Any Two) : [10]

a) What are the provisions for valuation of Taxable Services under Service
Tax?

b) Explain provisions for filing of returns under Wealth Tax Act.

c) What are the rates of Professional Tax?

d) Who and when liable for payment of local body tax?

04) Answer in 500 words (Any One) : [12]

a) Describe in brief ‘Deemed Assets’ and ‘Exempted Assets’ under Wealth
Tax Act.

b) Explain provisions and procedure for Registration and ‘filing of Returns’

under Service Tax.
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